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L5 Place value — The international system

The following table shows the place values for very Jarge numbers (Le.
numbers greater than 10,000) shown In the International systrem.

Cycle
N
Billions Millions [ Thousands Units
38 o l8lolalB8lela2l 8| n
S % ocls|slelslsle)ls|s5 |8 Place Value
glF|ol=|F |19z |F|e=|F | ©
OJolOofolo oflololo 0 0 1 One
Olojofdolo]lollololo 0 1 0 Ten
OJlojofolololololo 1 0 0 Hundred
Olojofo]lolofolo]l 1 oo 0 One thousand
OjojOoOfo|lo|lofol1]olO]oO 0 Ten thousand
OfoJofjo|loflof1|olof o] o] O | Hundredthousand
Oljojofolo|100]lo0]o olo 0 One million
Olojofdol1]lo0ololo ol o 0 Ten million
ofofof1]oflofofolo] o] o O | Hundred milion
Oloj1 Jolofofolo]Jofj o]o | O | Onenpilion
Ol1]0dololofllololo o]o 0 Ten billion
T1oJojofo|ojO]Jo|ofgo | O | O | Hundredbilion
(NEERE EREEEE BN R 1
Period 4 Period 3 Period 2 Period 1

lote the following:

1) There Is a cycle to the way the numbers are written. It repeats every
3 places. for Instance, after One, Ten, Hundred, we start the Thousands
group which also has One, Ten, and Hundred. le say One thousand, Ten
thousand, and Hundred thousand.

2) When we write a number we put a comma betwsen the groups.

3) The above number 1s read as One hundred and eleven billion, one
hundred and eleven mtl/lton, one Aundred and eleven thousand, one hundred
and eleven.
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Billions Millions Thousands Units
EleldlE|e(clElg|elEle] e
il HHERE B GEEE ER R
=2 |F = = =
Olo]lofolololololo 0 0 2
OlOJOJo|lo|lofo]loloQ Ola4 0
OlojOfo|lolofololol7 |oOo |O
OloJofo|lolofBolo]o 0 0 0
Ojojogoloflofols5]|lofof|lo]O
OjoJOfo]lo]lol1]lolofgo]lo] O
Olojofolo|o9fo|lolofBO]o]O
Olojofdols |lolololo 0 0 0
OlojOof7]|lo]lofololof oo O
Olo|3 Jo]lo|lofololofgoOo|lo ]| O
Ole|Ofolo|lofolo]lofg oo ]| O
410lo0f0]lo|olO]Jo1loO 0 0 0
4ale|l307]lslobl1|l5|lob7 |2 2

flore the following:
When we write a number In the standard form, each digit can be one of
9 8 7 6, 5, 4 3, 2, 1, 0
We put commas according to the cycles

The number shoun above 5 wuritten as: 463,789,150,742 and 15 read as: four

hundred and sixry three bllllon, seven hundred and elghty nine million, one
hundred and Fifty thousand, seven Aundred and forty two.
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lake the following number as an example
6 9 4 8 3 2 1 5 7
In the International system this number Is wrltten as 694,832,157 and read

as Six hundred ninety four millton, elght hundred thirty two thousand, one
hundred and fifty seven. The expanded form Is:

£00,000,000 * 90,000,000 * 4,000,000 * 800,000 * 30,000 * 2,000 * 100 *t
59 t 7

511 How would you read the above number using the Indlan system of
enumeratlon and what Is the expanded form?

51.2 Write the follouing In International expanded form and standard form.
a. Three blllions, sixty five millions, two thousand and seventy flive.

b. 4 milllons and eleven.

c. Six hundred elghty nine bllllons, two milltons, and flve hundred and twenty.

d. Ten mt/lton, Four thousand, and one.

End of L5
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